Year 5 Maths — Number and Place Value
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26+38=8x38

Both calculations have
the value 64.

greater than

less than

23 873 > 8256
The number on the left has 2
ten thousands and the number on the
right has O ten thousands.

901198 < 1091098
The number on the right has 1

million and the number on
the left has 0 millions.

ing foule:

Reotnding T
Find the number.

Look right next door.
& OF more?
Raise the score!

Read and write numbers to at least
1 000 000

5,467,350
2

five million four hundred sixty-seven
thousand three hundred fifty

% oP Js;s;s?l

b it rest!

Example: 103 = 10 x 10 x 10 = 1,000

 In words: 103 could be called "10 to the third power", "10 to the power 3"
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